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SECTION - A
| i} General Awareness

:

A+

Which Airline on 17-12-2014
cancelled its 150 flights due to oll
companies refusal to supply fuel and

(g fitbusands of fliers were left

stranded 7

(A) Indigo

(B) Jet Airlines
{C) Spica Jet
(D} Go Air

In which city of Pakistan, Tallban
gunmen stormed an army run school
and killed 132 children and 8 staffers
on 16-12-2014 7

(A) Lahore

(B) Peshawar

{C) Islamabad

(D} Karachi

In the small car segment, Tala Motors
came out recently with which car
comprising Electronic Powar
Assisted System with ‘Active Return’
function and speed sensitive power
stearing 7

(A) Zest

(B) Indica

({C} Boli

(D) MNano

Expand CBI

(&) Criminal Branch of Investigation
(B} Criminal Bureau of Investigation
(C) Central Branch of Investigation
(D) Ceniral Bureau of Investigation

MName the Indian-American who has
recenily become the youngest ever
US Surgeon General at the age of 37
(A)  Vivek Murthy

(B) Vikram Murthy

(C) AmiBera

(D) None of these

6.

10.

Kidambi Srikanth is a famous
(A) Shooter

(B) Boxer

{C) Shuttier

(D} Woelght Lifter

Who among the following introduced
Iocal self government in India 7

(A} Lord Canning

(B) Lord Rippon

(C) Rajaram Mohan Roy
(D)  Lord Mountbatten

The statue of Gomateshwara at
Shravanabelagola was built by

(A) Chandragupta Maurya
(B) Kharavela

(C) Amoghavarsha

(D) Chavundaraya

Which of the following is not a metal 7
(A) Ammonia

(B) Sodium

(C) Radium

(D} Plutonium

Antigen is a substance which

(A} Lowers body temperature
(B) Destroys harmiul bacteria
(C) Triggers the Immune system
(D) Isusedas anantidote 1 poison
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13.
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Whare Is Golconda Fort 7
(A} Jaipur

(B) Delhi

(C} Hyderabad

(D) Aurangabad

Kuchipudi is a dance form of
(A} Tamil Nadu

(B} Andra Pradesh

(C) Kerala

(D) Karnataka

Four 1.5 V cells are connected in
paraligl. The output voltage is

(A) 1.5V

(8) &Y

(C) 0375V

(B) MNone of these

Light year is the unit of
(A) Time

(B) Distance

(C) Light

(D) Intensity of light

Which Article of our Constitution has
abofished untouchability 7.

{A) Article 14
{B) Article 15
(C) Article 16
(O} Article 17

.

18,

19.
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Which day is observed as United
Mations Day 7

A} May8
(B) April 7
(C) October24
(D) October2

Among the following who represenis
Theatar Artists in Rajya Sabha 7

(A) Tendulkar

(B} OscarFemandes
(C) Jayashree
(O) Dr. Manmohan Singh

Among the following, which is an
input device 7

(A) Key Board

(B) Printar

(C) Visual Display Unit

(D) Graph Plotter

Who directed the film "Dweepa”
(Kannada-Colour-2001) which won the
Swamna Kamal lor best film and national
award for best cinematography ?

(A) Girsh Karnad

(B) Girish Kasaravalli

(C) Magabharana

(D) Puttanna Kanagal

Who was crowned Miss World 2014
on 14-12-2014 in the Miss World
Pageant held in London ?

(A) Koyal Rana

(B) Kathryn Bigslow

(C) Roleng Strauss

(D) Whitney Houston
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(A) 1.5V

(B) 6V

(C) 0.375V

(D) 59 A g A

ek = S g f
(A) T

(8) =0

(C) TR

(D) wapTe = Higen

ST I EAR I & o 3rees
&1 T JuTE R

(A) 3r=8% 14
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(C) =83 16

D) FH=E7 17

16.

1.

18.

18,

JDD-2Z/ANM/X-15

w1 w0 e T e #
(A) 878

(B) 7aTde

(C) 24 =
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‘ il} General Intelligence and Reasoning Abllity

21, Choose the one that does not belong Directions (Qs. 27 t029) : Thaese guestions
to the group of the other three. are based on the following & numbers.
(A) 12 (B) 18 283, 347, 518, 829, 748, 827.
e, e @) <8 27. if the first and the second digits of
h number are interchanged, which
92, || Aissubstituted by 2, Bby 3, Cby 4, o '
Dby 2, Eby 3, Fby 4 andsoon, then number will be the second lowest 7
what will be total of the numerical (A) 827 (B) 829
values of tha letters of the ward LINE 7 (C)} 518 (O} 748
(A) 14 (B 12 28, If the second and third digits of each
(C) 16 (o) 15 number are interchanged, which
59 KNNLQJTH? number will be the third highest ¥
| ' (A} WE - B) WF (A) 347 (B) 748
| ©) XF B} XE (C) 829 (D) 827
29, |f the first and the third digits of each
D"'H'Eﬁﬁﬂ-‘{ﬂﬁ, EIHDEE} 1 .Ihu B- C. D, E and : h d. whi h
F are sitting along a circle facing the centre. ;ﬁ:ﬁg:;ﬁﬁ;ﬁr;iﬂﬁ';ﬁt 2 2
B is an Immediate neighbour of D, T is an
immediate neighbour of A but is not an ?g‘: E; {[g; 32;
immediate neighbour of F. A Is to the
immediate st of B. 30. If A Is denoted by 4, L by 7, J by 2,
] A by 8, E by 1and | by 3, then what will
24, Who is second to the rightof E? ba the numericfonm ofthe word JAILER
(A} B B) A when writhen in the reversa order 7
() D & F (A} B13742
25, Who are the nelghbours af F 7 (B) 243718
(A} DandB &) B Ae
(8) DandA {0, AT
(C) DandE 31. If 283 is written as 328, 347 as 734
(D) BandC and so on, then which of the following
lwo numbers will have least
26. Who is to the immediate right of A 7 ditterence between them 7
(A) B (A) 347 and 518
B C {B) 283and 748
(C) D (C) B27 and 347
D) E (D) 748 and 518
Ax 6
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i) T g en arfde g

¥. 274 295 o Bl 4 uw B s wEman
Wi
283, 347, 518, 829, 748, 827,

21. =t o % wE & weea T T
=7 = hifam |
(A} 12 (B) 18
{C) 21 (D) 28

22, AR AFwE 2, B Fr 78 3, ¢ H
FR4, DR TR 2, ERTELF
ol ST 4, 30 TR AT "EI AR, A

LINE 12 % H&l] % =] | 178 1

el A F AT 7

(A} 14 (B) 12

(C) 16 (D) 18
23. KNNLQJTH?

(A) WE (B) WF

[C) XF (D) XE

n. 247 26F P Fde: A B,C.D,ESNF
FARRR ¥ o TR A SE © 1B R DF g
e R | C T A T S & A F g
TSR E | ATE B e Al S |

24, EFTEA SN A wERE?

(A) B (B) A
(C) D (D) F
25, FHETEMEIFEAE 7
(A) DSNB
(B) D3 A
(C) D3ME
(D) B3 C
26, AF e it sl am R g
(A) B {B) C
(C) D (D) E

E?I‘

28,

31.

7z & HEn & e 3 gE o 6
AZeT-A== 1 = ), 1 e wEn
T =EEm el 7

(A) 827 (B} 829
(C) 518 (D} 748

e &1 HEA & gl o diat o 6
HuETI-aSE i 7, T e
wE ) Bl 7

(A) 347 (B) 748
(C) 829 (D) 827

Ife & W F YEe 3 At a5
FEEA-HEE 1 e 8, 7 A 2
sy Fy) w9

(A) 347 (B} 827
(C) 283 (D) 748

ak AF 47T E, L 7, J 1 2,
R=F18 E® 13 1= 3anim 2, &
JAILER Y188 %1 3o @9 1 forae 301
S EE = R 7

(A) 813742

(B) 243718

(C) 871342

(D) B17342

i3 28351 328, 347 T 734 =i wiew
A e s E, A i a9
HETH| 1 ST T I = w7
(A) 3473518
(B) 283377 748
(C) 8273 347
(D) 7483 518




32. In a certain code 'GENIOUS" is
written as 'EGINSQU'. How will
'GABNISH' be written in thal code ?

(A} AGNRBHIS
(B) AGNRHSI
(C) NGRHISA
(D) NGARHSI

33. Inacertain code INKER is writtan as
KPLCP and GLIDE |s written as
INJBC. How will JINKS ba written In
that code 7

(A) LJOIO
(B) MKOIQ
(C) LKOIQ
(DY LKOLT

Directions ((s, 34 to 36) : These questions
are based on the following arrangement of
symbois, letters-and numbers.

EL2=7PC7SEH@ -BK&MSTV 3+

34. Howmany suchsymbols are there in
the arrangement, each of which Is

immediataly preceded by a letter ?
(A) Four
B) Two
(C) One
(2} Three

35. How many such numbers are there
in the arrangement each of which Is

immediately followed by a letter 7
(A} Three

(B) One

(C) Wil

(D) Two

ar.

JDD-2/ANM/X-15

If all the symbols are deleted from the
arrangement which element will be
the 5% to the right of the 12" element
from the right and 7

(A) K

(B) H

(C) 8

o) M

Pis the brother of Q. R is the sister of
S. Q is the mother of S. How is P
related o R?

(A) Uncle

(B) Brothar-in-law

(C) Brother

(D) Father-in-law

M is to West of M, P Is to the East of
N, R is to the North of P. What Is R's
position with respect toM 7

(&) To the North-West
(B) To the Nornh-East
{C} To the North

(D} Cannot be decided

Choase the allernative that doesnot
belong to the group of the other thres.

(A} Jawaharial Nehru

(B) S, Radhakrishnan

(C)} Lal Bahadur Shastry
(D} MNarendra Modi

Kamataka : Bengaluru ; : Tamil Nadu : 7
(A) Erode

(B} Chennal

(C) Palani

(D) Madhurai




32. uF A 2 9 'GENIOUS #1

‘EGINSOU' form s &, s g2 o
‘GARNISH' T & e s 7

(A) AGNAHIS
(B) AGNRHS!
(C) MNGRHISA
(D) NGARHSI

33. v FAfy=a 32 4 INKER #1 KPLCP
A E SR GLIDES! INJBC famn

= B | 3 g2 0 JINKS F) 8
Elou

(A LIoIQ
(B) MKOIQ
(€ LKOIQ
(D) LKOLT

4, 34 ¥ 360 foru e & wee T wdien, e
i o F wo W amnfE

EL2=7TPC7SEH®@ -BKAMETV3=

34, FHH UH F v § B e e
AR 7

{A) =
(B) &
(C) TH
(D) o

35 wuH v e o fows A w o e
AR ?
(A) #H (B) TH
(G} oA o) =

37.
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aft wo | & adt vt 1 e e 2
&1 2TeA S | 123 wew & Sfieh ain
55 S FAHI B 7

(A) K (B) H

(C) 8 (D) M

PRRQFTIEE IRTESHITEAE |
ams#ial &I pFRA TN e 27
(A) W =T

(B} e

(C) wH

(D)

NZE MEFTfFmEE, PaeNF T 8,
RTEPHIWMAL| R H R m*
s TR 7

(A) IT-uframfran

(B) F-gd&iam

(C) I =N

(D) Fifrm o ff s g

AR A1 o TR T A T
feree = |

(A) AR AR

(B) R, THFIH

(C)  wTe gt T

(D) R

TAleE ; WS AMEAIG 1 7
(A) FHiE
(B) =i
(C) weHI

(D) =gt
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jii) Arithmetical and Numerical Ability

. What is the least number to be added

to 3333 to make it a perfect square ?
(A} 3
(B) B4
(C) 78
(D) 57

139 -132=7
(A) 13
(B) 2028
(C) 1369
(D) 1

The difference between 89% of a
number and 72% of the sama number
is 391. What is 48% of that number 7
(A) 986

{B) 1098

(C) 1104

D) 1212

it V2 = 1.414, /50 =7
(A} 35.35
(B) 14.14
(C) B.4B4
(D) 7.070

9857157
a8.5-15

g7. 0

100

121

Mone of these

(A)
(B)
(<)
(D)

46.

a7,

What would be the compound interest
obtained onan amount of Rs. 11,000
at 10% p.a. for 3 years 7

(A) Rs. 3541

{B) Rs. 3,841

(C) Rs.4,3561

(D) Rs. 3.461

A car covers a distance of 816 kms in
720 minutes, What is the speed of the
car in kms / hour ?
(A} 64 kms/hour
(B) 62 kms/ hour
(C) 68 kms/ hour
(D) 60 kms/ hour

The average of 4 consecutive even
numbers A, B_. Cand D is 89, What is
the product of B and D 7

(A) 9996

(B) 9800

(C) o792

(D) 9408

If log 2 = 0.1310, log 5 = 0.2130,
log 10=7

(A) 0.0278

(B) 0.3440

(C) 1.0850

(D) 0.6550

H3a=4b 2b=5c,a:b:c="?
{A) 15:20:6
(B) 6:15:20
({C) 15:6:20
(D) 20:15:6
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A

1) FramToTE g vE HEETe e gEaT
46.

3333 1 St HE e @ Iy
aniaﬁﬁflﬂ'?am

(A} 31

(B) B4

(c) 78

(D) 57

137 -132=7
(A) 13

(B)y 2028
(C) 1369
0y 1

gft v HEF B9% 3N 72% 1 I
391 %, 39 wE W 48% e g 2

(A) 986
(B} 1098
(€} 1104
0y 1212

R Jz =1.414%, 7 J50 =7
(A) 35.35
(B) 14.14
(C) B.484
(D) 7.070

98.5% - 1.52
98.5-1.5
(A) 97.0
(B) 100
€) 121
(D) v Al

=7

=f1=

47.

49,
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%. 11,000 T 9w 102 wiaad aad =
TEaie = B Em 7

(A) ¥. 3,541

(B) ¥. 3,641

(C} %. 4,361

(D} %. 3,461 .

u = 816 B, i gfl 720 fimdl A ::
oil = 81 39 oW Al g A
wifer Bt & 7 ;

(A) 64T, o
(B) e2fF.d. =
(c) 68t oo
(D) sofe.f. faa

i e wn weand A, B, C 3 D &1
e 99 B1B WD FIPEE TS 7
(A) 9996
(B) 980D
(C) o792
(D) 9408

uf# log 2 =0.13108, log 5=0.2130%,
A log 10="7
(A) 0.0279
(B) 0,3440
(C) 1.0850
(D) 0.6550

R 3a=4b,2b=5c8, Ma:b:c=7
(A) 15:20:6
(B 6:15:20
(C) 15:6:20
(D) 20:15:6

.. |
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53.

When an article is sold for Rs. 62,
there is a profit of 24%. What should
be the salling price to make a profit of
30% 7

(A) Hs. 64
(B) Rs. 66
(C) Bs.65
(D} Rs. &7

The market value of a share of As. 10
is As. 13. How many such shares can
be bought by investing Rs. 26,000 7
(A) 2000

(B) 200

(C) 2600

(D) 260

|fx+%=5, xz+;12-=?
(A) 25 (B) 23
(C) 22 (D) 26

g men can dig a field in 14 days by
working & hours a day. In how many
days can 7 men dig the same field
working 8 hours a day 7

(A) 14 days

(B) 13 days

(C) 15 days

(D) 12 days

Jeavan goes Irom station A to station B
at a spead of 40 km/'h and retums from
B to A at a speed of 60 km/h. Find the
average speed of his total journey.
(A} 50 km'h

(B} 49 km/h

(C) 48 km'h

(D) 52 kmfh

2=

58.

B7.
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A man is 24 years older than his son.
12 years ago, he was five times as
old as his son. Find the present age
of the father.

(A} 40 years
(B) 42 years
(C} 50 years
(D} 45 years

There are three circles with centars
A, B and C with radii 5 cm, 3 cm and
2 om respectively. Circles with centres
B and C touch each other externally
but both touch circle with centra A
internafly. Find the perimeterof AABC
(&) 10em
(B) 12¢m
(C) 14cm
(D) 20em

The area of a rhombus is 24 cme. If
its one diagonal is of & cm length, find
the length of its other diagonal.

(A} 7ecm
(B) 9em
(C) 8cm
(B) Gem

The ratio of the areas of two circles is
9 :16. Find the ratio of their perimelers.
(A) 7:8 (B) 8:5
(C) 3:4 (D) 4:5

The perimeter of the base of a cone
is 44 cm. Its slant height is 12.em, Find
its curved surface area,

(A) 284 cm?
(B) 246 cm?
(C} 212cm?
(D) 260 cm?2




51.

A

o U e %, 62 1 arl) et @ e 24%
o AT E1 ® | 30% YATR 9F & forg

erara s e T =R 7
(A) . 64 (B) %. 66
(C) %.865 (D) % 67

%. 10 T ¥°R FI A A E, 138

%, 26,000 FEm = T8 T v wie
A EFAE ?

(A) 2000
(B) 200
(C) 2600
(D) 260

Hﬁ1+%=5%jﬁxg+fg=?

(A) 25 (B) 23

(C) 22 (D) 28

8 SqvEfi TRV 6 W2 W U e
14 fo=i o = # ) =@ dw 7 s
T 8 92 T e gy e A A
Einkcrh &

(&) 14FER (B) 13FA
(C) 15%A D) 12fm

e AR B R a5 40 kmvh A @
3 B e # A W aE § 60 kmih
T § ST | T T R S i e
i |

(A) BOkm/h

(B) 49 km/h

(C) 4B km/h

(D) 52km/h

13-

56.

a7.

a0,
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U Al R AL W 24 A AR T
12 HIE TEE 98 379 842 4 i 7 Al
7 | AT =T Seae 39 T Rt |
(A) 40TTA

(B} 42%TH

(C) S0HE

(D) 45am

w5 HH. 388 sfwad . B
A A aT ET s A, BALCE| B
S C FegAT F9 A H AT I Ew
R T S e I
Tl FAE | A ABC R uftf e i |

(A) 10%.,

(B) 1241,

(C) 1441,

(D) 204,

T HEEEdS F dAwe 24 H.2 R
T3 3 U vl 8 H ol S

=

i gt Rl o) e v i
(&) 7 A,

(B) o #.5h.

(C) B #EH,

(D) & #.H.

Bl g e 16 s a3
it =1 S T i |

(A) 7:8 (B) B:5
{C) 3:4 (D} 4:5

TF TF o 0 ) qia 44 A B
I o e 128 11 € | S e

e ferm e ST |
(A} 2843 H4F.
(8) 246 5P,
(C) 212# 4",
(D) 2608 4",

.I |
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iv) Test of Language : Hindi

sy ofteym ;
frdm . nersfme2: FopEd wadl odf | B4 INEA
T fefan | (A) @
(B)
61. B UIES © ol
(A) BT (D) @
(B) @
(C) 5] ﬁh:ﬁﬁﬂﬁﬁ:ﬁﬂ’lﬂ[ﬂjﬂﬂiwm1
(D) & 65. (A)
(B) TH
62. A (C) i
(A) EETIEET (D) TS
1By o 66. (A) TEW
(D) A= (©)
(D) w=
v : 63 390 64 ; T T O v e Wl |
@y : 67 37 68 : TG T T
g3 Tm__ FemmiE YR
(A) #
B7. (A) M w=m R
(B) W
(B) T F=dt wEw R |
(@) R (C) Tm =3 AEHE
(D) == (D) TR = e

-14-
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68, (A) e TR ESE 71, o’ Fr g e
(B) wE&% R TR (A) o
(C) wehizEaRE| (B) Tormwh
(D) weh TREAATWE (©) Rt .
r (D) foemd

69. MHF FAFTTATED
72. ‘R -w=FEaEwag?

(A}

(A) ETHEEHH
(B} =

(B) TATHITCTE SaHTH Fel
(C)

(C) =T
(D) W

(D) s w1

T AT 73, v 2 e o R

(A) =ah)

(A) IR
(B) e (B) =femwS
(C) E&dd c) femfem
(D) (D) e
As -15-



75,

Ax

(A) FEm
(B) Frmm
(C) WEm

(D} Femm

‘TR T w R e
(A) BTSR

(B) ERER

(C) rrieem

(D) swHET

"W ] TEETE T w8
(A) w0
(B) =TI
(C) =
(D) =Y

T it e s e
(A) TirerEnw
(B) Frmm
(C) TiremEm
(D) firerEm

78.

79.

80.
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"G TE EEEE e B
(A) =W
(B) =
(C) dw

(D) Tt

Hike w12 o1 g w2 B
(A) T
B) &%
(C) wFE

(D) =92

dte s fog e wid #ifem )
e |

(A) @
B i
(C) =

(D) #
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Directions (Qs. 81 to84) : Read the passage
given below and answer these questions
based on it

v) Test of Language : English
WTHT TETETOT ; S

Cynthia was a shy giri. She believed that she
was plain and untalented. One day her
teacher ordered the entire class to show up
for audition for the school play. Cynthla
nearly died of fright when she was told that
she would have to stand on stage in front of
the entire class and deliver dialogues, The
mera thought of it made her feel sick. But a
remarkable transfarmation occurred during
the audition. A thin, shy girl, her knees
quaking, her stomach chuming in terror,
bagan to stun everyone with her excellent
performance. Her bored classmates
suddenly stopped their noisy chat 1o stare at
her slender figure on the stage. At the end of
her audition, the entire room erupted In
thunderous applause.

B1. Cynthia was afraid to stand on stage
becausa

{A) She lelt her classmates may
laugh al her

(B} Her stomach was churning
(C) She lacked self-confidence
(D) She did not like school plays

JDD-Z/ANM/X-15

B2. Cynthia's classmates were chatting
because
(A) Itwas thelr turn to act next
(B) They were bored of the
performances |
(C) Cynthia did not actat all
(D) The teacher had no control i

ovar them

B3. The transformation that occurred

during the audition refers to

(A) The nervousness of Cynthia

{(B) The eruption of the entire
room in thunderous applause

(C) The surprise on the faces of
her classmates

(D) The stunning performance of
Cynthia

B4, Cynthia's knees were guaking
because
(A) She felt nervous and shy
(B) The teacher scolded her
(C) She was very thin and weak

(D} She was afrald of her
classmatas

{7




Directions (Qs. 85 and 86) : Choose the
word which is most opposite in meaning to
the given word.

B5. “Reveal’
(A) Disclose
(B) Proclaim
(C} Hide
(D) Publish

88. ‘“Inaudible”
(A} Suppressed
(B) Low
(C)  Murmuring
(D) Loud

Directions (Qs. BT and 88) : Choose the
waord which is most similar in meaning to the
given word.

87. ‘“Design"
(A) plan
(B) wild
(C) delete
(D) deser

88. “Anticipation”
(A) Surprise
(B} Unexpectedness
(C) Expectation
(B) Apology

JOD-2/ANM/X-15

Directions (Qs. 89 to 81) : Find out in which
part of the sentencea (A), (B) or (C) there is an

error, If there is no error, your answer is (D).

89. One of the important lesson (A) / he
taught me was to save at least (B) /
thirty percent of my gross income (C). /
No error (D)

90. Most of the tribals in the region (A) /
are depended on the forest (B) / to
eam their livelihoods (C). / No error (D)

81. Senior citizens prefer banks (A) /
which branches are located (B)/ near
their homes (C). / No error (D)

Directions (Qs. 92 1o 95) : Fill in the blank
with the appropriate alternative.

82. Where “In a village near
Pune".

(A) Lives your uncle ?

(B) Does your uncle live 7
(C) Youruncle lives 7
(D} Does live your uncle 7




Why angry with me
yestarday ?

(A) were you

(B) was you

(C) youwere

(D) have you been

How long

months".

(A} do you leam

(B) are you learning

English ? “Six

(C} you are leaming
(D)  have you been leaming

‘I saw Naveen at the station when |
was going to work this moming but

he me'.

{A) didn't see

{B) don't see

(G} hasn't sean

(D) didn't saw

Usually Igotowork ____ bus
(A} In

(B) on

(C) by

(D) from

=10=

97.

100.

JDD-Z/ANM/X-15
We arrived the airport intime.
(A) on
(B) at
(C) to
(D) by
He had finished his work.

The tense of the verb in the above
sentence is

{A) Past continuous
(B} Presentperfect
(C) Pastperfect

(D) Future

The plural of brother-in-law is
(A) Brother-in-laws

(B) Brothers-in-law

(C) Brothers-in-laws

(D) MNone of these

He is looking at me.

Name the part of speech of ‘af' in the
above sentence.

(A) Pronoun

(B) Verb

(C) Conjunction

(DY Preposition
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SECTION - B
Post Specific Subject-Related Questions
bk 101. The Blood group referrad as 105. The colour of the RBC's is given by

‘Universal Donor Is LA} Actin

(A) O (B) Globin

(8) 8 (C) Chyme

1) AR (D) Haems

(D) A

106. Total number of bones in our body is
102. The longest bone of our body Is

(A) Skul : j:;
(B) Radius ot
(C) Humerus .

(D) Femur B} 208

. 107, Total number of chromosomes in our
103, The functional unit of kidney is

body is
(A} MNeuran ta. 4
(B) MNephron
(B) 44
(C) Alveoli
(C) 46
(D} Pleura
(D) 45
104. The reguiation of blood glucose is
maintained by the harmone 108. The normal Hemoglobin level is
(A} Insulin (A) 18-23g/dl
(B) Prolactin (B) 14-16g/dl
(C) Oxytocin {C) 8-10g/dl

(D) Testosterone (D) 16-20g/dl




101.

102,

103.

104.

As

" —

e T oy — et ues
105:

‘AT Al T GHE
(A) ©
(B) B
(C) AB
0y A

et v ) o e A
(A) wd)

(B) e v

(C) wmfvEs

(D) =T

g o) EeT) ST B
(A) alERERTEE
(B) = UFF

(C) =it

(D) g

A | s e s e gm
For e

(A) FHEH

(B) W

(C) sEEfET

(D} TR

106.

107.

108.
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RBC it avi gas T =mm 2 n
(A) 3R

(8) A=

{C) =EH (Chyme) F
(D) BY (Haeme)

BRI TR A et BTE1 oh A it #
(A} 208
(B) 206
(C) 204
(D} 200

it e A e v ) e
(A) 47
(B) 44
(C) 46
(D) 45

HT fEmeae =

(A} 18-23g/dl

(B) 14-16g/dl

(C) &-10g/d|

(D) 16-20g/dl ‘




109.

110.

b & o

112

The normal blood glucose level of an
average adult is

{A) 80-110mg/d
(B) 60 - 100 mg/d!
(C) 180-210 mg/d|
(D) 150 - 180 mg/d!

The covering of the heart is
(A) Peritoneum

(B) Plaura

(C) Pericardium

(D) Myocardium

The volume of blocd pumped from the
Left Ventricle is termed as

(A) Circulatory Volume
(B) Stroke Volume

(C) Cardiac Output
(D) Cardiac Input

Vitamin C is also known as
(4) Nicotinic Acid

(B) Riboflavin

(C) Calciferol

(D) Ascorbic Acid

113

114,

1 15!

116,

JOD-2/ANM/X-15

Goltre occurs due to the deficiency of
(A) lodine

(B) Calcium

(C) Potassium

(D) Chioride

Xerophthalmia is a deficlency due to
which Vitamin 7

(A) D
B A
© K
D) E

The blood pressure of a normal
healthy person is

(A) 120/60 mm of Hg
(B) 120/80 mm of Hg
(C)
(D) 140/60 mm of Hg

90/60 mm of Hg

Bradycardia refers to heart rate below
(A} 80 beats/min

(B) 70 beats/min

(C) 80 beats/min

(D) 100 beats/min
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108. AR w FafmE EEE TmEImE | 113, ToE 5 AyE Y i

(A) 80-110mg/di (A) SRR

(B) 60 - 100 mg/di (B) it

(C) 180- 210 mg/di (C) TrEEm

(D) 150 - 180 mg/d (D) ARG Ir

110, %29 & 3T %) Fed § 114, o B & sy @ Simdafm dard 7 )

J (A) R (A) D b
\ (B) FFEE (B) A

(C) wheg (€) K

(D) W= (D) E
| 111, =i remd v R A S TR | 115, g e =E A am

i a8 (A} 120/60 mm of Hg

(A) iR it (B) 120/80 mm of Hg

(B) wI wfn (C) 90/60 mm of Hg

LS i (D) 140/60 mm of Hg

(o) %= fEm

116. Fewidn =1 waom § wea 9 gz
112. Tl C =i =% ot e & T A

(A) FeRifdies s (A) 6O/ min

(B) Rt (B) 70 =EZFA/min

(C) FiHmia (C) BOSEFA/min l

(D) VHF S 375 (D) 100 sT==A/min |

As -23-




117.

118.

118,

120.

Bluish discoloration of the skin is
refarred as

{A) Hypoxia
(B) Dyspnea
(C) Apnea

(D) Cyanosis

Prolonged bed ridden patients have
the risk of developing

(A} Decubitus Ulcer
(B) Caeallulitis

(C) Scabies

(D) Psoriasis

The most preferred site for giving IM
mjection of an average adult Is

(A) Deltoid
(B) Umbilicus
(C) Gluteal Region
(D) Forearm

Analgesics drugs reduces
(A} Sugar level

(B) Fever

(C) Secretions

(D) Pain

121.

122.

123.

124,
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The break in the continuity of bone Is
referred as

(A) Wound
(B)  Arbhritis
(C) Fracture
(D) Inflammation

ICDS programme initiated in India by
(A) 1965
(B) 1875
(C) 1885
(D) 1981

The national heaith programs related

to mother and child is

(A) Maternal and Child Health
Program

(B) Child Survival and Safe
Motherhood Program{CSSM)

(C) Reproductive and Child Health
Program

(D) All of the above

The normal supplement of IFA during
antenatal period is for

(A) One tablet throughout period
{B) Only one tablet for 100 days
(C) 2 tablet for 100 days
(D) 3 tablets for 80 days




117.

118.

118,

120.

= o et e e
(4) T

(B) fem

(C) s

(D) Afem

72 @ @ vEm W A whe o
FEmEETEat

(A) ERIAIEEH ST
(B) #egRrlem

(c) wfw ()

(D) wffg ()
i aifer & e M s 3w
EEEEHEEIEE

(A) TR

(B) =ify

(C) Fra=wEm

(D} ey

e Feyat et A
() Tk R

(B) =

(C) w=m

(D) =

121.

122,

123.

124.
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% P s s R we B
(A) e

(B) ARy

(C) S (wfErsm)

(D) =Ew

1A 5 |CDS Fides HH §3

(A) 1865

(B) 1975

(c) 1985

(D) 1981

11 3w wey & wehan nE mRe
FiEn d

(A) e 3T finy e R

(B) HTETE HiETEE 3US HE HEEE
widn (CSSM)

(C) friresdm sfvg wmgee oa Wiy
(D) T

FHYE S § |\FA T wwE e f
(A) it v 3 v, e et
(B) 100 &1 3 Teru Fam us 1wt
(C) 100 sl % R 2 et
(D) 90 T & Forg wm ifenat
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125.

126.

127.

128.

IFA tablet given when

(A} Hb below 10 g% of a mother
(B) Hb below 10 g% of a child
(C) Both A)and B)

(D) MNone of the above

The Ovarian cycle is initiated by
(A) FSH

(B) Estrogen

(C) LH

(D) Progesterone

In 40 days of menstruation cycle the
ovulation occurs at

(A) 14" day

(B) 20" day

(C) 26" day

(D) 30" day

Bluish discoloration of the vagina is
called as

(A) Heger's sign
(B) Goodell's sign
(C) Chadwick’s sign

(D) Mg. Donald's sign

129,

130.

131.

132.
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Regular rhythmic contraction can be
leit during bimanual examination is
called as

(A} Palmer's sign
(B} Heger's sign
(C) Uterine suffle
(D) Rovsign's sign

The normal heart of the infant, after
birth may range between

(A) 100 to 180
(B) 13010170
(C) 12010 160
(D) 100 to 130

Morning sickness usually disappears
by the end of

(A) 1 month

(B) 2 months
(C) 3 months
(D) 4 months

Which formula Is used for calculating
EDD ?

{A) MNaegele's Rule
(B) Infant Formula
(C) Labor Rule

(D) Rule of Nine




125. IFATfer & ameft ¥, ==
(A) THFHb10g% TR T e
(B) M Hb10g%AFfEEm
(C) A)sm BT
(D) ot = Tl

126. ITUETITY =k I 3HEY AR
(A) FSH
(B) wEHH
(C) LH
(D) SR

127. 40fR S o asd sl dm 3
(A) 148 =
(B) =204
() 26dfim
(D) 304 fam

128, @i %1 ek 1 wea &
(A) Bl wTEe
(B) T T
(C) “eREg
(D) B, STeeH AT

A+

128,

130.

131.

132,
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Fafim Tmg w=a geed whtem &
WA AEed T awd 8, 7w B

(A) TTEE AT
(B) W am

(C) FefFHEE

(D) Tierermsre] AT

o o e T = HE gl e
o e TEaT

(A) 100% 180

(B) 1307 170

(C) 1204 160

(D) 1008 130

T e S §9 o i e
LAk

(A) 1 WERT

(B) 2udR

(C} awEA

(D) 4mER

EDD =1 feam &t & fre i a
AFR YT

(A) FrteTE &

(B) B
(C) waa fam
(D) =

am !




133,

134,

135.

1386,

A

Which of the following is recognised
as teratogenic ?

(A} Scarlettfever
(B) Rubella
(C) Fevar

(DY Coronary Heart Disease

Which of the following is not present
in bottie formula for new born 7

{A) Amino Acid
(B) Complex carbohydrate
(C) Electrolytes

(D) Immuno globulin

Endametriosis is common in
(A) Nullipara

(B} Multipara

(C) Perimenopausal age
(D) Virging

During Pregnancy the client will have
an increased need for

(A} Potassium
[(B) Sodium

(C) lron

(D} Carbohydrate

137.

138.

138,

140,
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A possible complication of an infant
deliverad by cesarean section is

(A) Respiratory distress
(B) Hypothermia

(C) Hyperthermia

(D) Anemia

Immunity transfarred to fetus from
mother through placenta is

(A} Active natural iImmunity
(B) Passive artificial immunity
(C) Passive natural immunity
(D) Active arfificial immunity

First trimester moming sickness can
be overcome by

{A) Eating nothing until nausea
subsides

(B) Eating Fat belore sleep
(C) Taking heavy food at bed time
(D) Eating protein before sieep

The drug of choice for eclampsia Is
(A) Mg30,

(B) Prostodin

(C) Timolol

(D) Beta Adrenargic Blocker
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K i 133. frada R eefmamamt ? | 137, Retfer dam & v R fg 8

| | () firghsm TR A 3 o s R
| B) we (A) FEEA HH2
[ €) = (B) TR
‘ | ©) FEE (C) wurwiin I
134, %0 gu g & R B A 4w e B e |
; T I AE 138, Wi % FRIHI S YO vEET T wfe § -
(A) e s () wiE rafifs i
l * (B) wiociad w2 (B) FifErgwhm i
(C) sergRTEeH (C) sy afite whwen
(D) A T (D) wifmim afwn
135, vrEnt s e wm 139, eet formmel Wi ferepete 4 5 v P
(A) 3TwTET ST
B) (&) wwaE el s adigwaEna
(€) AR (B) W H TEE a1 @ o
(D) Hart (C) =H A 9= Wil Wi = &

136. TTEEE T T W g0 i (D) WA R

’ AT Er 140, varETEean & for 2and 8
(A) s (A) MgSO,
(B) iz (B) wrEifEa
(C) == (©) Friveiver
| (D) Fwiege (D) Tam sistfo st
A» 29-
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141, Which of the following is used in 145, Kiinefelter syndrome s indicated by

colposcopy 7

(A} Povidone lodine
(B) Acatic Acid

() Methylene blue
(D) Gentian viclet

142, The commonest cause of postparium
hemorrhage is

(A) Instrumental Trauma
(8) Postmature Pregnancy
(C) Premature Pregnancy
D) Atonic Uterus

143, The commonest type of episictomy
(A} J shaped episiotomy
(B) Mediolateral episiotomy
(C) Lateral spisiotomy
(D) Left Lateral episiotomy

144, Drug of choice for induction of
abortion s

(&) Prostaglandin
(B) Ergometring
(C) Mathtrexate
(D) Clomiphene Citrate

A

1486.

147,

148.

(A) Chromosome 47XXY
(B) Chromosome 23XY
(C} Chromosome 47 X
(D) Chrompsome 48XY

The complaint of Oligomenarrhea,
obesity and Hirsutism in a 20 year old
lady indicates

(A} PCOD
{B) Cancer of Endometrium
(C) Prolactenoma

(D) Pregnancy

Birth trauma is a risk factor for
(A) Uterine Prolapse

(B) Endomelriosis

(c) PID

(D) Abortions

Total calorie requirement for a
pregnant women Is

(A) 1000 to 1500 keal
(B) 2000 to 2500 keal
(C)} 2500 to 2700 keal
(D) 2700 to 3000 keal




ket JDD-2/ANM/X-15
| 141, e § fie i & S 3gdm 145, TFevra FEm e gfmwm t
| FRd? (A) 47XXY R
(A} s iR (B) 2aXYEmiwin
(B) wHfEF s (C) 47 X@mimm
(C) wfrfer = (D) 4BXYFHEEM -
(D) R am 146,  20aia wften 6 et wem i
i 142, TR T W G R v feaests ot farmmad e & )
) (A) U T HEHT (Al PCOR
(B) T e W (B) RN
(C) T W &) i
(D) Wi Tl =)
i o s i 147, ﬂmmﬂ,ﬁﬁqa’rﬁnmﬁw%
(A) J v o gfiaiend Uy :ﬁm
Rt el (B) w2t
i (C) PID
STt
(C) wiere 3fie i

(D) w9 weter sfrdisierd

148. mifad wigen & o sl &edi
r 144, Ty F oo S ofvg s 2 7

ST £ e
(A) WrEdETER (A) 1000 1500 keal
(B) wiHdA (B) 2000 & 2500 keal
(C) Tuywre (C) 2500 2700 keal
(D) T Tz (D) 2700% 3000 keal

A"‘ -31-
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1560.

151.

152

First fetal movement felt by the mother
is called as

(A) Ballotment
(B) Quickening
(C) Lightening
(D) Kicking

Pearly white or silvery bright lines,
headed after delivery Is called as

(A) Linea Albicantes
(B} Linea Nigra

(C) Striae Gravidarum
(D) Striae Nigra

Meconium mixed with liguor amnil
incicates

(A} Congenital anomalies
{B) Chromosomal anomalies
(C) Fetal Distrass

(D) Chorea

Presence of complete ring of
bubbias at the meniscus in shake
test indicates

(A) Maturity of fetal brain
(B) Septal defect

(C) Maturity of fatal lungs
(D) Fetal cyanosis

153.

154,

1585.

156.
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Less than how many number of kicks
in 12 hours indicates the failure of
Placental Function ?

(a) 2
B) 5
(C) 10
(D) 20

Total weight gain of mother in
pregnancy is

(A) 101012 kg

(B) 18to20kg

(C) 1210 14 kg

(D) 91010 kg

Mormal labor is called as
(A) Spurious Labor
(B) Dystocia

(C) Eutocia

(D) False Labor

‘Show' is the sign of

(A) True labor pain

(B) False labor pain

(C) Sign of Abnormal labor

(D) Sign of Placenta Previa




150.

151,

152,

A

149. o gm g veef seeer megE TR

Eaok

(A) Hererve

(B)

(C) wmgeRm

(D) TesERn

wHE % =T AiHTER e 11 =
wrhtelt e e e
(A) Linea Albicantes

{B) Linea Nigra

(C) Striae Gravidarum
(D) Striae Nigra

ey oty forr o o e R @
(A) T SETHE

(B) SRHHM =l ST

(C) ymEFe

(D} =ifEn (Chorea)

Teem & whem 7 FEEeas % ow wpl
R GE IR IR

(&) uq1 3 wiEs £ ghmwm
(B) Wt
(C) 901 FwEH 1 aftee
(D) o i fifern

1 531

154,

155.

158.
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129vg) § Braelt wrel @ s ad e
1 Tremen 2 2 7

A) 2
B) 5
)y 10

(D) 20

TS H R g weE B ge e g
(A) 10 H12kg
(B) 18 H20kg
(C) 12 14 kg
(D) 9 H10kg

T 95 I FEd £
(A) oW wHE
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(C) e

(D) sETwEs

T (Show) T8 31 H3a 2
(A) wrE] W e

(B) 31 WA a1
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F‘” 157. What Is the total tima period forthe | 161. The process of giving birth is called as
i 3" stage of labor primiand multi ? Gy A
(A) 15 minutes
(B} Postpartum
(B} 30 minutes
G) Li '
[c} 45 minutes (C) ﬂhtﬂnil'lﬂ
(D) 1hour (D) Labor
158. Adter delivery the immediate care 162, What is the normal dilatation of cervix 7
(A} To clear the airway B s0cm
B the cord
(B) Toclamp @ Fem
(C) Clean the cord
(D) 10cm

(D) Initiate the feeding

1683. The duration of al period is
159. Owerlapping of the paritel bone during o 5 4

birth is called as (A} From delivery 1o 1 week
(A) Caput (B} Delivery to 4 weeks

(8) Moulding (C) Delivery to 6 weeks

(C}) Hematoma

(D) Delivery to 10 weeks
(D) Fixation

164. The vaginal discharge during the first

160. Which of the following drug is given - fortnight of puerperium is known as

to Increase uterine contraction 7

(A) Methargine i phiow
(B) Oxytocin (B): Lachia
(C) Pethadine (C) Effacement

(D) Phenargan (D) Leucorrhea
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r 160.
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(C) 45Tz
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TAE FEA

(A) FE

(B) wHieEm

(€) Fddm

(D) Tiem

TR & st ¥ R e i 2 e
wATs e # 7

(A) e

(B) ifre=

(C) TuEmA

(D) FHoH
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T 4 i AT FEd §
(A) =57

(B) YR=9wR

(C) wrgefm

(D) I

arEr a1 i R e 2 7
(A} 20cm
(B) 50cm
(G} 7em

(D) 10cm

et sl fe a7
(A) WEEH 1 HTE

(B) 5 # 4 "

(C) TH=dsuaRE

(D) Wwea & 10 \ER
R aafa & et i g & dvm
EETe A e
(A) =i

(8) =i (Lochia)
(C) THR=

(D) #IFRW (Leucorrhea)

B =i
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166.

167.

168.

What are the indications of cesarean
section 7

(A) Fetal distress

(B) Central Placenta Praevia
(C) Obstructed Labor

(D) Al of the above

The hormone responsible for lactation is
(A) Growth Hormone

(8) FSH

(C) Prolactin

(D} Corpus Luteum

At fetus have fine downy hair which
is called as

(A} Vemix caseosa
(B} Amnion
(C) Chorion

(D) Lanugo

The main objective of nursing care in
asphyxia baby is

(A) Initiate early breathing

(B) Administer oxygen

(C) Gentle Handling of the Baby

(D) Maintain clear Airway

169.

170.

171

172,

JDD-2/ANM/X-15

Cyanosis in preterm baby is due to
(A) Jaundice

(B} Cleft Palate

(C) Respiratory distrass syndrome
(D) Intra cranial injury

In fully flexed cephalic presentation
we feel

(A) Occiputof fetus

(B} Sinciput of the fetus
(C) Eyebrow of the fetus
(D) Oral cavity of the fetus

Moenate is resuscitated if pulse rate
iz below

(A) 40 beats/min
(B} 60 beats/min
(C) BO beats/min
(D) 20 beats/min

Which of the lollowing is tertiary level
of prevantion ?

(A) Health Promotion

(B) Specific Protection

(C) Early Diagnosis and Treatmant
(D) Disability Limitation
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173.

174,

175.

176.

COnly human beings are resenvoir for
(&) Smallpox

(B8) Influenza

(C) Salmonella

(D) Rabies

As per the latest WHO. guidelines
which dehydration status required
ORS

(A) Mild dehydration

(B) Moderate dehydration
(C) Severe dehydration

(D) Any form of dehydration

Maximum maternal mortality is seen
(A) Hepatitis B
(B) Hepatitis E
{C) Hepatitis A
(D) Hepatitis C

Which vaccine Is contraindicated in
pregnancy 7

(A) Rubella

(B) OPV

(C) BCG

(D) Hepatitis

177.

178.

178,

180.

JOD-2/ANM/X-15

In Polio transmission, easy block can
be appled by acting on

(A} Reservoir
(B) Susceptible Host
{C) Faeco-oral mute

(D) Agent

Vaccine which is given at the earllest
(A) BCG

(B) MMR

(C) DT

(Dy DPT

BCG Vaccine is administered to
children

(A} Intradarmally
(B} Subcutaneously
(C) Intramuscularly
(D) Orally

Tuberculin test is read after
{A) 48 hours
(B) 72 hours
(C) 96 hours
(D) 24 hours
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176.
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(A) FmenTm

(B) FAwEET

(C) &g

(D) Rm
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(A) wor Frstem
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e § s de afigfa 2 7
(A) EaEm

(B) OPV

(C) BCG

(D) eEufefem

177.

178,

179.

180.

JDD-2/ANM/X-15

T % SR H 3 W S
21 BT Hed B

(A) WER

(B) ST e
(C) we-ehfiges el
(D) %W (wie)

o1 1w e fea W
(A) BCG
(B) MMR
(C) DT
(D) DPT
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(B) A==
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(D) s

SR TiEm F R g,
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181.

182,

183.

184,

Incubation period for mumps is
(A)
(B}
(€)
(D]

18 days
14 days

10 days
5 days

Which of the follawing gives lifelong
immunity after an attack ?

(A
(B}
(S
()

Typhoid
Mumps
Tatanus

Diphtheria

Communication period of chickenpox is
{A) till last scab falls off

(B) 4-5 days after rash

(C} only during incubation period

(D) only upto fever lasts

Sharp instruments may be sterilized
with

(A)
(B)
()
(D)

Radiation
Lysol
Hot air

Any of the above

185.

186.

187,

188.

JOD-2/ANM/X-15

Which of the following is powerful
disintectant 7

(A) Phenol
(B)
(<)
(D)

Lysal
Dettol

Potassium Permanganate

Keratomalacia is associated with
(A)
(B}
(C)
(D)

Measles
Mumps
Rubella

Chickenpox

For disposable items, the best method
for sterlization is

(A} Dry heat
(B)

(C) Gamma radiation

Incineration

(D) Bolling heat

Vertical Transmission is by
A
(B)
(C)
(D}

Mosguito
Direct contact
Droplet

Placenta
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189.

180.

191,

182,

As

Which is most difficult to block
spreading of 7

(A} Vector

(B) Man to man
(C) Airbomne
(D) Waterborne

The period after entry of the organism
to produce maximum infection is
known as

{A) Incubation Period
(B) Generation time

(C) Seral interval period
(D) Lead time

The drug used by Health workars in

the management of Acute respiratory
iness is

(A) Clotrimoxazole
(B) Chloramphenicol
(C) Benzyl Penicillin
(D) Gentamicin

Prevalence of tuberculosis infection
s measured by

(A) Chest X-ray
(B) Sputum AFB
(C) Tuberculin Test
(D) Sputum Cuiture

183,

194,

195,

186,
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Malaria Is transmitted 1o man by
which mosquito 7

(A) Culin

(B) Culex

(C) Aedaes

(D) Female Anophophele

Identify the water bome disorder.
(A} Dengue |

(B) Malaria

(C) Cholera

(0) Polio

The procedure of removal and ligation
of Fallopian tube is refermed as

(A) Mastectomy

(B) Vasectomy

(C) Appendectomy

(D) Tubectomy

The best time for IUD insertion is
between which days of Menstruation
eycle 7

(A) within 2 days

(B) 3to7 days

(C) 81010 days

(D) 1110 14 days
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197. The metal which is commonly used | 199. The Multi-Purpose Worker Ingeneral

for tamily planning is sarves a rural population of
(A} Iron (A} <500
(B)  Aluminium (B) 1000
(C) Copper (C) 3000
(D} 5000
(D) Siiver

200, Thesystem of storing and fransporting

188, Mala D Is an example of vaccines is tarmed as

(). Pillom) (A) Cold Chain
(B) Injectable contraceptive (B) Freezer Chain
(C) Vaginal diaphragm {C) Cool Chain
(D} Foam lablet (D) Vaccination
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Fritaal @ o aewngul srEm

This booklet confains 48 pages.

. Pleasa check all the pages of the Booklel

garafully, In case of any defect, pledse ask
tha Invigitator for replacemant of the Booklet,
Directions : Each guestion or incomplate
statement |s followed by four alternative
suggested answers or completions. In each
casa, you ar required 1o select the one that
correctly answers the question or complales
the statemen! and blacken (@) appropriaie
circle A, B, C or D by Blue/Black Bak-Point Pen
against the question concemed In the
Answer-Sheet. (For V.H. candidates
corresponding circle will be blackened
by the scribe)

Mark your answar by shading the appropriale

gircle against each question. The circle should
be shaded completely withoul leaving any space.
Tha comact mathod of shading is givan below.

Wirong Matnd || Comao Mothad

|G--EDD EH}D C®OOCea0

The Candidala musl mark his'her response
after careful consideration,

There is only one comect answer 1o gagh
guestion. You should biacken (@) the circle
of the appropriate column, viz., A, B, Cor D.
It you blacken (@) mere than one circle
agalnst any ong question, the answer will be
treated as wrong. I you wish to cancel any
answer, you should completely erase thal black
mark in the circle in tha Answer-Sheet and
than blacken the crcle of revised response.

A machine will read the coded Information
in the OMR Answer-Sheel, In casa the
information & ncomplate’different from the
Infermation given in the application form, the
candidaturs of such candidate will be reatad
as cancodled,

, Use the space lor rough wark given in tha

Question Booklet only and not on the
Answer-Shesl,

You are NOT required to mark your answers
in this Booklet. All answers must be
indicated in the Answer-Sheet only.
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